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# /NE T =KE:
buylist = ['8858', 'HFE"',
t NERE  WEEE
buylist[1] = 'Fi&

# A I E T
buylist.append('fE 1 ")

# N EET S S EINEREE
print("EH4" in buylist)
print('5%&F" in buylist)
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# BRI/ INIIER S E T 58 5/KIR 7
print(len(buylist))
print(buylist)

buylist.insert(1,

B, BE, B
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False
True
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['BR', 'R, '8, "H#Hk', "Hr']
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buylist = ['58R', '&&", "B
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buylist[1] = 251 &8.appnd (¥ B E)
# I BNMEREE S - £ B A & In s —{E 1R B
buylist.append('7E <)
# I\ EEREEENEBRREENEZERS -
print(&£:" in buylist)
print(E%" in buylist)
#2EEMABERERE  IIERBEAZE—ETER

buylist.insert(l, 't=5")

# BE/NIEBE 7 ERKR?

print(len(buylist))

‘@t(buylist)

By Z#E.insert(FZ5{E,#IEH)
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# /NYIRHE E H K RIS B IR P I A RBP4 \
buylist = ['#aR", 'R, "&&', "Bk, ']
# Jugiy FEA/KREHRIZ

print(buylist.pop())

# R D THVKR AR
del buylist[0]
print(buylist[0])

N del 85118 T
f R e EE5 - oA 2B

YIS CEEIR) AL B []

prrdnie(oupllasit) b= IR ERE Traceback (most recent call last):
del buylist File "12-2.py", line 13, in <module>
print(buylist) print(buylist)

NameError: name 'buylist’ is not defined
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# /INFREE B R K RS B A28
buylist = ['Z&8R", 'R, 'E&", "Bk, "]

- = S AR5 -
' i del 852 18[R3 ]
' BERIANEERSIENE
# LT N THVKR AR MIBE R - WiEZZRS]
del buylist[0] BEBOENTAER
print(buylist[0])
| # sressokppEs u
buylist.clear() _
print(buylist) del 51 & 38
. fipREEE RS - B=%
del buylist EE BB

(int(buylist)

_J




TEERAARN
B ZE[RSE]=/E

{52 FA &5 AA
RS RS I BERIE BB HE

5 ZiE.append(FHIER)
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B ZfE.insert(ES &, #1E
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BERBENERHTIRITERE )
len(ER51 & 1H) Al s EEAE%EIRE
51 #&#.pop() Wit BARERRVIEE - WiFeZIE B e 5B IR

del &#5|ZHE[R5{E]

BEINIEERSIMBNENIEBRIR - WHEZRSEEEN
SR RIE

B 5 ZHE.clear()

R IINFTBEIREEBER - 25/ ZEmMZEE5

del E51R2#E
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# 03RRI

datal = ['apple', 'banana'] Eﬁ}i & & 51
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# k2. [ list() EIrHEy

data2 = list(datal) ‘I

data3 = list(['apple', 'banana'l)

data4 = 1list(('apple', 'banana')) BEA— . (Epavi ki

data5 = list('apple', 'banana') __Atﬁqzzgﬂﬂg
CrAEBREE TR

HEEIT4R)

BAMEFEHERNERHE  FiSEER /
TypeError: list() takes at most 1 argument (2 given)
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del thislist

-?I thislist B2 &3NS e

=B EEMER - FrRAfIEE
= 2B H thislist - TLELLA
thislist —EFHASR

thislist = ['apple', 'banana']

del thislist
print(thislist)

thislist.clear()

« Z1§ thislist &£5A
18 thislist /22—

~eelEZE s

thislist = ['apple’,
thislist.clear()
print(thislist)

'banana’ ]
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(https://www.w3schools.com
/python/python_ref list.asp)
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